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Directions - In questions no. 1 to 4, select the

PART A
GENERAL INTELLIGENCE AND REASONING

Direclions : In guestions no, 5 to 8, find the ndd

mtmnem Jrsfword [number/ figure from the given wardﬂuﬂursfnum&w putr from  the given
suggesteqpg, alternatives.
e
-~
7" (A) Gallon (B) Ton
1,4 RIDE : LNBE : : HELP ; 7 ([fp7 ey esGs .
!(’ | (C) Quintal (D) Kilogram
(A) NINP AB) BAJP
A) 120560 (B) 91-299
() JPCH (D) BJP o | |
G 78169 () 1{144291%
_3.%1:51::3-:? Wm: Ring ) Ty '
A 1 (B) 13 (C)/Plate D le
© 12 @ 14 W (A) Eyes
Throat -

Question figures :

¥ %

Answer [figures :

(B) CEHLQ
) HIMPT

f_iraclmm : In question no, 10, whichlone of the

leiven responses wouwld be a mmmn,gfuf order of the

following 2

1 . Rirth 2, Death 3. Childhood
4 4. Infancy 6. Adolescence 6. Adulthood

(C}

?/ NxM:14%x13::XxZ:?
/ (A) 24 %23 (B) 23x 24
_18) 24 x 28 (D) 26 % 23

7. Old age

(A
(B)
()
D 2,7,6,45 3.1

:21-6") 'T.r o, 4‘) ai 1
ll 4'! .31 5: .ﬁl ?I 2
1,4, 3,6, 5,7 2




'hich one set of letters when sequentinlly
placed ut the gaps in the given lelter serics
shall complete it ?

ghkbunabbiagabblag
{A)- abbaaba (B) wnbabbaa

{C) babaaba (I} baabaah

Directions : In questions no. 12 to 14, o series ut

given, with one ferm missing. Chooge the correct
alternaiive from the given ones that will complete the
series.

@ GQuestion figures ;

< N EAIEA
¥ a & XX a'
N/ RV ) | IV
Angwer figures : ) - ;
7, A~ | EAIWVEZ
-0 g . a X B

15, A% s family Mr. Prakash has his wife and his
Two marriod brothers of whom one has two

“ ghildren and another has no issue. llow
many members are there in the family 7

(A) 12 members Q.
(8)+ & Fombts m.t):
(C) 6 members

) 10 members
;/llr: a group of egual number of cows and
herdsmen the number of legs was 28 less

than four times the number of h&ads. The

number of herdsmen was a ._&, Y
7 (B 28
© 21 - ek
D14 7. %o Bl
£ P is the husbund of Quind R
of S and Q. what i '

(D) Mother-in-law

| age of 19 boys in a-class-is
21 yeare. IT the teacher's age isincluded, the
j awnmge increases lo 22 years. What is the
teacher's age ? =

(A} 39 years
(C) 40 years
Hari remgribsrs that his father's birthiday is
between 18™ and ;"I:E.'h of June, whereas his
sister remembers that their father's Ihin-.hd:_gy
is botween 14" and 18" of June. On which
day is ‘their father's birthday, which both

a8y 41 vears
D A4 Yoars

19,

agree 7
(AY 14" June (By 168" June
(@ 16% June My 17" June




20. At CAT is coded as 3120, what code number
& can be given to NAVIN 7

JAT 14122914 (B) 49274654
(C) 73957614 ()

3/ 1t «dyyt is decoded as ARGUE and
M\ ochlneisSOLVE, whatisgayxeio?

(A) VAGUELY  _(B¥" VAGRANT
({Cy VAGUELE (D) VAGUER

None of these

: In a code language, the following alphubets
~are coded in a particular way @

. ABCDEFGHIPRSTO
Tl 78> < AaD® B3R W+

Which word ean be dedpded as
7DD 4+7:4
ABOLISH

(B APPROVAL

(C) ACCOMPLISH

(D1 APPROACH

1Al

fSome letters are given with numbers from 1
to 7. Select the seguence of numbers which
, arranges the letters into.a meaningiul word.

123846617

(A), 4216573 (B) 2416537
(C) 2146357 (D) 2416357

“FArrange the given words in the sequence. in.
™ which Lhﬁ_fluﬁ_:@_r in tlfa]}mhnmf and locate
the last word.
A
(A) Frankenstein (L) \

(B) Erankincensec))

(€) Frankelmoign wg@ 5

tten es ‘PGIKNCAB in a
‘CURE’ _ be writfen in that
ELRe,

(B ECAB
(D) EAGC

|Directions : In questions no. 27 to 32, select the

reissing number | lettars from the given resporises.




7 | 2-
M 9 12 8.
% 36 81 144 |2

24 263 210

(A) BT % H(B) 53
Vol {B}. o €) 105 Ay 111
(C) o4 o 102

¥ w+ea=74 20
BL+H =99

then 556 + 65 =7 | \ =

(A) 5062
(C) 6094

g
g
=32

@) 3n6y268«45
(€ 3y6e258ndns

(D) 356e2y8ndns

\ it O =6 A=3 =5 O=4, O=8,

@0 ® O




Fnur :hildren, Akram, Eupm Priya and Tulsi |39,

are on o !lddur Akram g further up the
iadrler t.him Bnpm* Bapsi is in batween Akram

and Priya. If Tulsi is atill farther than
’.-»./‘ J'kknsm who is r.hn second person from the
2 hnthum 7
(A) Tulsi (B)  Akram
Priya Bopsi

()

Jaya started from house with son Rakesh and
moved to North. Before signal point, Rakesh's
school bus tock him to the right side. Jaya
continued in the sgame line and got petrol filled

and entered a supermarket. In w ich dire
is the supermarkot located fi

pump ?

(A) Enst (B} South

(Cy North 9] West e'
L2

%km and turnc

\g%amn left. home
turned right n.ﬂd

- T

(D) 15

ch one of the following Venn diagrams
represents the best relationship between

Snake, Lizard, Rﬁﬁ_’iﬂ ?

{M. [BII@
¥ 5.-91.

(C) 00

n the following figure, which number
represents the Women Doctors who are not
Emplnjuﬂ ? ‘i,'-'?-"

(B) 3
(D) 8

PAAY T
© 1

\?th‘-“my Daily in the morning the shadow of Gol

Gumbaz falls on Barn Kaman uand in the |
evening the shadow of Bara Kaman falls on
Gol Gumbaz exactly, Se in which direction is
Gol Gumbaz to Bara Kaman ?
_{A) Eastern side

(B) Wesatern side

(C) Northern side

() Southern side




4
ong the four answer figures; which one can

Ihrmad from the cut vat pieces given hr.tluw
in Lhe question figure 7

Question figure :

By

Anstoer figures ;

" | | 8 |

K ‘.“‘l .l..

[A) (B) ~{er (D)

T‘

(A) (B) 11
I3 (M 14

_ From the given answer figures; s the one
in which the question

hidden/etbodded.

How muny syuares are theré in the given
figure ?

There are two statements followed by two
conclusions [ and [Il. Assuming the
stutementd are true, decide which one of the
conclugions logically follows, disregurding
commonly known facts.

Statements. !
1. All poets are intalligent.
2. All singers are intelligent,

Conclugions :
L All singers are poets..
1. Some intelligent persons are not SINEETS.
(A) Duly_ conclusion I fallows
nly conclusion 11 follows

(B)

48.

| from mmmnnly
decide whm‘n of 'r.hu

me huakn are novels,
All novels are magazines.
Somy magazines are jnurnalm

Conclusions :

I.  Some novels nr-ujmmml:.

1. Some books are nmmm‘ﬁ_

IIL. Al books are magazines, |

IV. No novel is a journal,

(A} Only conclusion [T fallows

(B) Omly conclasion III follows
_(€  Bither conchusion T or 11 follows-

() Either conclusion I or IV and

concligion IT follow




Which answer fgure will complete the
pattern in the question figure 7

Question figure ;

A1

Angwer figures ;

NlE
(A) @ © m
he following small letters| are goded by
\ capital leiters in a certain way &
2 uwum 1 a d ; r

R A PMS O

MAPSRO

Now, which small letters ean be deco
the letters given below - .
)

(A)
(B)

lumdas

lumzda

Mpam of paper is folded and punched out as
shown below in the question figures, From
the given answer [igures indicate how it will
appear when opened.

Question figures :

J | L
Answor figures
= LB "Il' « L~ = = E=J
o wdl|le = ([P he @d
I o 1
o of||la o P o @h
i H_ e A 2 =
AT (B) ()

Directions * (Question No. 50) In
question, there s an addresg
reproduced. against (A) (B X

|which hate mmu cad? L

' fﬁ.]' Meenakshi Sundaram
MIG 17, Housing Bourd Colony
Near Airport, Amrutsar — 262973
{B)"Meenakshi Sundaram
M G 17, Housing Board Colony
Ne.ur Airport, Amrutsar — 252793

Meenakshi Sundaram

MIG 71, Housing Board Colony
‘Near' Airport, Amrutsar — 252793
Meenakshi Sundaram

MIG 17, Housing Board Colony

(e

()

Near Airport, Anrutsar — 262793




51.

PART B

GENERAL ENOWLEDGE AND GENERAL &WMS

The three-tier Panchayat Raj system in Indin
was propesed by the

(A) Balwant Rai Mchta Committes
gf Ashok Mehta Commiltee

(C) Royal Commission

(D) None of the above

52. Under which Article of the Constitution is

53,

the President’s Rule introduced in a State
due to the failure of the constitutional
machinery ?

(A) 352
(B). 356
(C) 360
(D) 850 ll' ' )
i ‘-h N .
/ e | ..r : E
Through  which  principle/s did |

Mshatma Guandhi sirive to bridge economic
inequalities 7

Abolition of machinery &
Establishment :
 Adoption’o

Disrespectable.

- G.B. Shaw

Carpenter
{C) Lord Bryce

(D) Appa Dorai

(B)

Pregmme in ‘l‘nﬂinn.

() 1968 ®) m'

(). 1966 (D) 1=§ﬁ15 .

Brown Revolution' is

(&) growth of fodder industry
growth of dea produsts
growth of milk nnﬂ*mjlk products -.L*"

growth of food mmmiug and n"hﬂ-
drinks industries in India

©
)

The total v@
produced in a cow

sonsidaable seale 1B % b
(A) amall holdings

(B) lack ol tractors .

(C) poverty of the peasants
(D) indifference of the people

Which one of the following is nef a function
of the central bank in-an economy 7

(A) Dealing with foreign exchange
(B) Controlling monetary policy

(C) Controlling government spending
(D) Acting a= a banker’s bank

|




80. Which one of the following was the first
Fnglish ship that eame to Indin ?

(A) Elizabeth

(B) Bengal

(C) Red Dragon )
(D) Mayflower 2

61. ‘The memberstates of the UN.O. have

delegated the primary responsibility for
ma‘im.aiﬁing‘-wpﬂd peace and aeeurity to the
(A) General Assembly '

(B) Economic and Social Council (EcoSoc)
{C) Sacunty Council

(D) International Court of Justice

Which one of the following
Buddhist text produced in Indil

Diyya Vandang
Dohakosa
Vagrachediba
Vamsathapahasini

64,

Who translated Remayana inte Persian 7
(A) Abul Fazl

(B) Badauni

(C) Abdul Latif

(D) Isar Das

65.

(A)
Q) Apiculture

Which one of the following is a major port on
thee East' Coast of India ?

(A) Kandla

(B) Vishakhapstnam

() Karikal .

(1)) Pondicherry (Puducherry)

The approximate circu ﬁl%ﬂ‘mmnr the Earth

18!

(A) 13,000 km

(B) 20,000 km i
(€ 25,000 km .
(D) 30,000 km %

Ao
|

oy |

The All India Muslim League was founded
by B

(A) Maulana Ahmed Al
(B) Mohammad Ali Jinnah
(C) Aghn Khan

(D) Hakim Ajmal Khan

Golden Revolution refers to
Sericulture (B} Horticulture
(D) Vitiealture




71. A bulloon flled with helium rises in air|76. A large number of identical plants can be
(A) air exerts an upward forcé on the
ballpon
(B) tha balloon is weightless
(C) Thelium i less dense than air

(D) helivm pushes down on the air below
the balloon 1.

75. One can distinguish a teleiicope from A
mirroscope by observing.

(A) length

(B) colour ~

C) size of _
(C) size of the lens 7 Taukasmis on SR
() length and size of the lens r by alinormal inere:

(A} Red blood calls
78. 'The sound produced by a bat .
(Al audible 1
(B) subsonic :
(0)  infrasonic : % I;_
(D) ultrasonic. 70, wwl@ggii;%_ﬁqmﬁy-mmy is
B | (A) 226 N
% :";&f‘ﬁ‘;ﬁuﬁf‘:;?, il W (C) 256 ~ * .rl. ) 4
80. The poison of honey beeis
| @ Acidic '
3 (8) Alkaline .
' () Saltish |
. (D) Protein
75. Cooking oil is converted into vegetable ghee
by, S ooy ol 81. Birds which swim in ‘water have
(A) Crystallisation (A) wibbed feet _
(B) Condensation | [ER
(0); Iftivodacy (€) long betks
P =

(D) Oxidation (D) toes with claws




A new' technology which provides the ability
to ereate an artificial world &nd have people
interaet with it i ealled

(A)
(B)
(C)
(ge)

Televirtuality

Virtual reality

Alternate reality

3-D reality

A parallel port is most often used by a
(A)
(B)
(<)
(D

Printer
Monitor
Mouose
External storage device
Kuchipudi is a dance-drama
the State of

(A) Assam

(B} Andhra Pradesh

!
(C) Orissa | !r".!

(D) Manipur

X—r&j—l were discovered by
(A) Faraday
(B) Roentgen

© R%

ho #mong the following is mof & recipient
adasaheb Phalke Award ?

V. Shantaram
Raj Kapoor
Mukesh Bhatt
Lt Mpiiges

*{\*“@

87.

Rusting of iron requires-

(A) oxygen and carbon dicxide
(B) oxygen and water

) cxygen oy

‘Glass is a

(A)  pure solid

(B} supercooled liguid
L2} &‘91

(D) polymer

Electrostatic precipitator is used to control
(A) Air pollution
(B) Water pollution

) lid waste :
{ Noige pollution

National Environmental Engineering
Rescarch Institute is located at

(A) Pune (B) Delhi

(C) Nagpur (D). Chennai




94. The government set up 8 commitiee headed
by the Chairman, Central Board of Direct
Paxes some time back to go into

(A) codification of tax laws

the entire stocture of lax  laws
including the question of imposition of

bank tax

(B)

the concerns of the foreign investors in
India with regard to taxation matlers

(C)

(D) aspects of generation of black money, its
transfer abroad and bringing back such
money into India's legitimate financial

gystam

Who got the 'Purjﬂe_
maximum number of
EETIES ?

(A) Harbhajun Singh
{B) Lasith Malinga

(C) Daniel Vettori

(D) Albie Murl%g\\
whieh the Union Finance

the

Ve ﬁma back 7

(B)

Aumg_‘nb&d
(C) Mysore

(D) Guntur

97.

98,

100.

The book ‘Great Soul ; Mahatma Gandhi and
His Struggle with India' wa¢ in news some
time batk and wes banned in some Indian
States including Gujarat. The author of the
boolk is

(A} Joseph Lelyveld
(B} Michael Ondaatje
C) Jack Welch

(D) Duncan Green

The secret operation carried out successfully

by the US Navy Seals, in which Osama B‘Igi
Laden, the world’s most wanted terrorist was
killed, was codenamed as

(B)

@x;

40 ‘Sample Regutraﬁnn'
" released some time back by
Tice nl. an Dﬁ]hi thurﬂ ks

tA) Jasmine:
(G

) ,durmg the period 1999 - zqua_ What has
been the percentage change during this
period 7

-~
(A) 15% (By 29%
(C) 35% (D) 42%
Premlata Apgarwal has become the oldest

Indian woman to scale Mount Everest at the
age of 45. Bhe belongs to the State of

{A) Jharkhand

{B) Uttar Pradesh
{C) Rajusthan

(D} Bihar




PART C

NUMERICAL APTITUDE
- /101, Rani's weight is 25% that of Meenn's and [107. By selling 60 articles a vendor gains: the-
40% that of Tara’s. What percettage of selling price of I_g_ggglm Find his gain
\'?pj,_’g weight iz equal to Meena's weight ? percentage.
AB)  160% (B) 140% (A) 25 ,\iy/ &s%
£ 120% (D) 100% -
(©) 20 iy 253
§02. 11 (200000 = 1:024 % 10¥, then the value of k 7
\F is Aﬂhnpkmmmaﬂlsmmduat?ﬁﬂﬁnd
sells it at & disconnl of 15%. He also gives a
&/33 4wy 30 gift worth T 8. If he still makes 20% profit,
(€1 34 (m 31 the cost prife, in rupees, is *
3 N i\"

04. If (10-15)% _{'Eﬂ-.l;ﬂﬁ‘i then the value of
-.,HI ﬂaﬂﬂﬂﬁ + J' 2.25 s

(A} 1025-15 y,u- 103515
ff 102:515 (D) 1020615

104,411 JO:081% 04 % & = 0'004 48

.

the value of ~E i
(A) 18 x10"%
JO 16x10°P
lgég The smallest among Y1

W
v

(C)

nwmber is divided by 12 ?
(B) 5
(D) 0 .

iy 8

-—
ﬁi_--
el

e

%r is divided by 46, the|
' . What will be the remainder

Ly 2

40

RS

71008t of 2500 people, only 60% have the

¥ saving habit. If 30% save with bank, 329
with post office and the rest with shares, the
number ol uharﬂlinldl‘.-ﬁ Ire

(A) 450 A 570

(Cy 950 '(-HI 1250

A person bought 50 pena for T 50 each. He
sald 40 of them at a’losa 4 \ He wants to
gain 10% on the whole. “Then his gain
percent on the remaining pons should be
(A) 15 (B) 40

(8) 50 ~# 70




112, The avernge of the three numbers x, y and =
_ is 45, x is greater than the average of y and

v
|

> &

2 h:.r 9. The average of y and z is greater
than y by 2. Then the difference of x and z is

(B) &
(Dy 11

(A) T :32
C) 4:8

The incomes of A and B are in the ratio
2 : 3 and their expenditures are in the ratio

1: 2. If each saves T 24,000, find A's income,
(A) ¥ 24,000 (B) TT72000

(€) T 19,200 ,\7(.3{' 2 48,000

in a mixture of 25 litres, the ratio of
wator 18 4 : 1. Another 3 litres of
added to the mixture, The ratio of
water in the new mixture is

& 5:2
(C) 3:58

work in 4-;— hours.

A and B working tng&t.lmr can d
; %ﬁ king
€ and A

together can do ;
1

| — hours, All

n _24 ours, Al

working together can di

in’ the work at the same time.
mueh time they will take to finish
piese of work,

(A) 3 hors (B
JI,C}' 2:5 hours (D)

- 2 hours
3:25 hours

15[5. On o certain sum, the simple interest at the
end of G% years becomes g of the sum. The
\ o
Dy 8%
A shopkeeper lists the price of an article as
7 500, But he gives 4 eertain discount which
allows the buyer to pay T 500 for the article
including 10% sales tax. The rate of discount
is

(A)

i
ef BH%

riite of inferest is
(A) &%
() 7%

118.

L]

lﬂ-—% "

1 o \(“_ g

(B)

10%

uﬁﬂewsd that numbers 15, 23 are wrongly
taken as 51 92, The cun'ect MEean is

(B) 82
(D) 345

Of the three numbers, the first number s
twice of the second and the secund is thrice

of the third number, Tf the average of these
3 numbers is 20, then the sum of the largest
and simzllest numbers is
(A) 24

() 60

42
(C) 54 |




7&1 Aand'B together can do :—; of & work. In the
same lime B and C together can do ;—: of the

same work. The ratio of work done by A, B
and C ia

(A) 8:4:6 (B 4:5:7

‘)65:6-:3 D 5:7:8

123. The speed of the current is 5 km/hour. A
motorhoat goes 10 km upstream and back
again to the starting point in 50 minutes.
The speed, in km/hour, of the motorboat in

still water is
(Al 20 (Br~ 28
(Y 25 (D) 28
1 A man has te be .at B ce al-_-_ ‘place wt @
vertain time, He finds that he shall be

20 minites late if he walks- 88§
and 10 minutes earlier if le s

speed of 4 km/h. The distance !:a-, as tr wal‘,k _ :

i5

() 10 km

(A) 24 km (B) 12:56 km @|
l" ﬁ |

“'&

128,

f%

180,

then its perimeter is
(A) 2¢em

(c

4 cm

The radius of the incirele of a triangle is
2 em, If the aréa of the triangle is 6 em?,

127. The total surface area of a solid right|
4 circular cylinder is twice that of a solid

-apharﬁ If they have the same radii, the ratio |
of the volume of the cylinder to that of the

sphere is given by

n(lﬂ‘ 94
&}-3:1—'

The base of a aulid ﬁght pris '

(B

M) 419 o x4k
H'. 1-. »*

2= 1

[

Qe 4

A1

" surface area of 3 rectangularbnxarelﬂcm-

and 94 ¢m? respectively, then the maximum
length of a stick that can be piane:[ inside

the box is

N1 542 em

(c

) 6 em

By 5 em

(13 2\{5 em

Fach interior angle of a regular polypon is

18° more than eight times an exterior angle.
The number of sides of the polygon is

J

) 10
) 20

B)
(D)

15
25




The length of each side of an equilateral
triangle is 1448 em, The area of the
invirele, in em”, is

(A) 450 (B)

o 164 ()

#Three cireles of diameter 10 em each, are
bound (ogether by @ rubber band, as shown
in the figure.

>&31.

308
77

132

The length of the ruhher I::ti:nd in ¢m, if it is
stretched as shown, is

(A) 30
(C) 10m

¢ ratie of the areas of
triangles having the same v
iingle between equal sides)’
of their heights is
(A} 1:4

'bpr1g

133

\yﬁ' a chord of length 16 cm is.at a dm 2 # )
15 em from the eentre of t.ha#r ; then the:

186. 1f the sum nf% and its reciprocalis 1 and
420, b20, then the valus of o+ b is

Ny 2 ® -1
e 0 m 1
187. 10 < 4,3 + — + —5 =4, then the
X ¥e
vﬂluen!‘ x* + y* s n
2 iB?I 4
(Cl 8 Ny 16

18§, 1If % = Y+ f’iist.ﬂ- X, % = x 4y, then

N - -
the value of S + L Al LAY
A -1 Jah 1 1
) 2 (D) ‘\%

'1'1[ a4 b¥=2 and e +d"—1 then the
value of (ad — hn}¢+ (ac + ".mi}ﬁ is

e 1 1
e
uquai o £ 1 er o
(8) 10.¢m B 20 cm 141. Two medians AD and BE of AABC
cﬁ } 40 em intersect at G at na‘iﬁ- angles, I AD = 8 ¢m
185. \inkm it value of 2 sin? 6 + 3 cos” § and“BE = 6iem, then the length of BD, in
©m, 18
(a0 B 3 {£3r10 By
N 1 Ay il L.l




142. If cosec 39° = x, the value of
+tan? 51°

1 3 o
cosee” 51
/'-f = 'L//
B j]pjﬂ- sec? 39"

(A yx*-1 (B J1_x*

5 o | (1 -x*

143, The value of
tan 4% , tan 48° . tan 47* . tan BG6® is

(A) B 3
\}m" 1 ) 4 P
144, 1T M =2, (0 £0590%, then the
‘F tan0—coth
va,lne of &in B i=$
A)
1
-
2

_Fd’.ﬁ-. If the angle &fdeva:mn of ;ha 5 0, changes

a pillar dam'eases by 2§
ul‘-;thé_ pillar is

(AF 20 {J-?T-l]: m

Dlreafiunu ¢ The M&tqgmm shows the marks

histogram una* answer the qumﬂwmt no, 146 o 150.

=== T s
‘[ o ISOSIEE () RS
| S = = ..
& ?-- hhhhhhhhh o - : s
- s B 57 g [
C3 .‘. ----------
Eﬁ J4—-— ﬂ
- D P LY N R CR RS E
| B
Z L ol . _
0 20 §0° 40 50 80 80
‘Marks —>
14§47 How many studenls Have obtuiged marks 50
and above ? :
(A) 9
¢y 11

1477 1f the
/ of fuilur
' )y 20

§ If the pass mark be 30, whal s the
percontage of successiul students ?

A 75% (1B 60%

() 50% B 40%
149( How mény students have obtained marks
_2‘ less than 10 ¢

AT 2 By, 10

ey 1 n 4

1‘? How many students have qht.ﬂinn'ﬂ 30 or
v more marks but less than 407

S 3 By 4

{CY @ Dy 6




PART D
ENGLISH COMPREHENSION
Directions : In questions no. 151 to 155, some of ‘the sentences have errors and some are earrict, Find out

which part of & sentence hos an error and blacken the rectangle [ M | corresponding to the appropriate
latter (A, B, C). If a sentence ix [roe from errors, blacken the rectangle corresponding to: (D) in the Answer

Sheot,
. The way to increase the production of the food / is to bring more land /' under cultivation. / No errar,
AT y (B) (€) (D
152. The girls watched intently / as the model applied her make-up / with a practiced hand. / No error,
(A) (B) ({63) ()
M If he is-a millionaire / he would help / the millennium project. / No error. .
(A) (B) cy (D) .
_ | ¥
1§47 The Prime Minister along with his Cabinet colleagues /
' ) (A)
have been weléomed by the Chief Minister / at a formal ceremony. / No error:
= AB) )

he political candidate talkedd 5 if 8he has already been clectad / to, Lhe gresidency. / No error.
' (A) (e

Directions : In questions no, 156'40 . fences i_‘-- " i nolse
are given with blanks to be filled ine with an
appropriate word(s), Four alternatives are suggested
for each guestion. Choose the correcl allernative
of the four and indicate it by blackening th
appropriate rectangle | B8 | in the Answer Sheek
J€a. She made hér's ki
her-large for 159,/ 1 am exhausted, let's a day.
(A) eall it
(B) eall at
(C)~"call off
(D) eall in
7. The stewardess showed the passenger (1600 The worker uged ___ to paich up
- the hole in the wall.
(A) when to-start travelling
(Bl where to land the plane _
_ how to fasten the seat belt () soil
(D) how to judge the altitude of the plane o
(D} grass




Directiona : In questions no. 161 to WM [
four alternatives; chouse the ane mﬁf#& |alter:

the meaning of the given word and .lﬂ"hﬁ wnderlingd in the sentence. Choose the alte
Apawwer Shont. o T which best expresses the meaning of the

161. Flaunt - |Hdinm | Phrase and mark it in the mg&m
() Dt (B} deeslig -l'l'l. The teacher’s unnouncement to cone T
(0> exhiibit ) blame — smap test came as 4 bolt from the ‘Blueits

162. Subjugate many students.

(A) capitulate (B) eonguer: I (A) imaginary
(©)  strike (D) eonfuse A\ (" unexpected |
163. Behavitur () forbidden .
\me (B) blessing (D) henvenly
1€)  charncter (D) response 172. He and hie friend are sailing in the &

164. Stringent ' | boat
(A) MNexible (B) inflexible . (A) sailing together in the same boa
() staunch WP tongh ‘ (B) :::;;’;fm the

185. Dﬂllhtfrnt.&b’ . 0 Bt i e A4
(A) spoitancously  (B) ) getting it

P intentionally (D) | -

Directions ; In questions po, 166 o 170 " 1-“‘ T" be g

word that is opposite in meaning fo the. B

and niark it in the Answer Sheet.

186. Britile
(A)  weak B strong
(€) fragile (D) brigh

167. Callous
" (A) rudo

I;nhumenfuundit dlﬂinult_ﬁuknwtbnwoff

(A)  hunt wild animals

BT escape starvation A
q’l (€) pet woollen clothes

: (1) walk on ice

M jovial .

(A) obstruct gxf/ advance
() linger (D) guaraotee
170, Perilous

(A)  carefres (B) impe

(C) safs (D) impiire

175. Thore {8 no soft option to the CrisE now.
(A) popular opinien \/
(B} popular solution ;

21 easy and agreeuble option
' (D) diffieull choice




Directions : In questions no, 176 16 180, a-sentence

is given, the underlined part of which may need

improvement, Alternatives are given at (A), (B) and
(C) belota which may be a belter option. In case no
improvemant is needed, your answer is (1)), Blacken
the appropriate réctangle [ W | in the Answer Sheet.

176. With these extra people you can work easily
with thiz job,

(A)  deal

(B) improve

(C) cope f
(D] No improvement

177. 1 visited my aunl just before a week,

(A) awesk befors J
(B) = week earlier ‘
SO a week ago

(D) No improvement

_n ork h
_ working hard

works hard

N improvement

180. It is high time you ‘started revising your
lessons.
(A) start N
(B) had started /
(€) will start
~ (Dy” No improvement

Directions : Inquestions-no. I81 fo 185, out of the
four alternatives, choose the one which can be
substituted for the given words/sentence and
indicate it by Blackening the appropriate rmtang!e
| W ] in the Answer Sheet..

181. Speed of an object in one dircction.
(A) piice
(B) tempd
(€) velodrome
(RY velocity

182, The plm

184, The study of insects

(A) Anthropology i s
(B) Zoplogy \/
(©) Btymology '

ﬁl Entomology

185. List of issues to be discussed at a meeting.

(&) -schedule \/!,

‘\_(EJ/ agenda

(C)  time-table

(D) plan



Directions : In guestions no. 186 to 1890, groups of
four words are given. In each group, one word 18
corrietly spelt, Find the eorrectly spelt word and.
mark your answer in the Answer Shect.

186

187,

188.

188,

190.

Directions : In the following passage (197 ta 2004,
some of the words have been lefl out. First read the
passage over and try to understand what it is about.

Then

alternatives given. Mark your answer in the Answer
Sheet,

(&) separetion (B) seperation

() seperetion (D) separation

{A) diserepancy (B) descrepancy’

(C) discripancy (1) discrepansy

(A) adviceuble (B} advicable

(©) advisable (1) adviseable

(A)  millenium (B) millennium

(C) milennium (D) milenitm

(A) embarass (B) emﬁnmss A
(C) embaras [{8)] JATTAs

fill in the blanks with the help of the

PASSAGE (Questions Ni
Martin Luther King, Jn
Michael Luther King, Jn
grandfather had his name
Marhn Luthar at.tunduﬂ ae ap

: '- 197.

H appr—
distinguished Negro ins
from which both his

re he was elected president
Bewite senior class, he was awarded
D. in 1951. _197 a fellowship won at
D nmr he enrolled in gradunte studies at
Boston University, completing his:
residence 198 the doctorate in 1953 and
receiving the degree in 18955, In Boston he
199 and married Coretta Scotf, a young
woman of 200 intellectnal and artistic
aftainments: -

| il (53

lBl- (A) and

. (A) graduating
(Cl—graduated

by

theological

aducationyl

. somewhat
) (A)  From
r ©r* With

: -M} o

((7)  about

189, (A)
% \‘:’9}“ mat

y/‘ (A) common

_/) untommaon

saw

B+

=

(0

(B)

‘80

but

changed

made

finighing

finished

from

with

(D) =B

(B)
(D)

By
Through

of

-eloped

watched

‘general



